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I »ywIR"7's identification of our mwn as being composed by other than v (R1R7 NPRY NVNYV~=NVLNY — ') MWVN)

a

b

Proof1: no liability for yin »03nw for 27 vnws
i But: to w™, 15t was invalid nvnw 227 would have been qw3 if done inside < liable for yin 01w on 24 as well
Proof2: liaiblity for 2n4 nnaa pomn
i But:tow™, 18t nomw (nya pohin) is R R 1oy 2> 27 should be Moa
Proof3: liability for 2" 0191 Dw1p (for 2"K)
i But:tow™, 2 is not a 1”IR7 NVNY, as meat can’t be eaten before 7”171 > should be no liability for 28
challenge: why the need for 3 proofs? The mwn is clearly not authored by v"
i Answer: D191 DV was needed; we might have thought that »wTp nvnw was n"RY NV NY, as it is indispensible to
the permission to eat 9wa (since if he stabbed it and put 0T on nam, wouldn’t be 1mn) - necessary but insufficient
Challenge: why not reckon the n" of "nx1 RY” (v. 1), which applies to any invalid 129p?
i Answer1: the Rin only reckons the 15 of 218, not extrinsic 1R
1 Challenge: he reckons yin "0
2 Answer: he only counts an “outside” 15 when that action brings no other culpability
i Answer2 (r7): 101 70100 is NWYY P71 (v. 2); 18Y which is implied by an nwy is an nwy
iii ~ Challenge: v. 2 is needed per 098 "1 — to resolve v. 2a/2b (status on eve of 8" day)
1 Status: may be w*Tpn, but not n¥n until 8 day
2 Answer: v. 3 repeats information in v. 2 2 makes a1 9010 an NMYY NOK
NI13177 “T. W™ was accustomed to saying that 2R does not apply to »wp at all
i Challenge: 2:1 onar (variation in 2:2> N2t RNAVIN) — 3R which are DwTp which he slaughtered outside
1 w7z for 1% n" for 27 — as w™ ruled that any no'nw which is only fit at a later time carries n”>
2 opomif no M, no n"
(a) Our discussion: according to w", 15t is 1K1 NPRY nVNw — 274 would have been fit inside — should be fully
liable (m93) for 2nd
(b) Rather: (per 821 or *13) — Mwn is deficient:
(i) If 2778 which are oow77: are slaughtered
1. Both outside: 1st gets 113, 2° is N but no N3 (1321); N7 for YN *0INY (V™)
2. First inside, 2" outside: 1% is fine; 2" is 104 (1327), or " for YN »VINY (V™)
(c) But if: w™ maintains that 28 doesn’t apply to mw7p, why is he “only” liable for n"» for 2n4; should be n72
3 Rather: Rmmnn 11 reported that w™ holds there are no man for 2R in WP
(a) Reason: until he does 7071 (of the 2n), meat can’t be eaten > any warning at time of nonw is pav nrINN
(b) Note: 811 is consistent — he rules that if mother is P9 and the child is on5>w
(i) If: he slaughters the p9n first and then the nn%w — he is exempt
(if) But if: he slaughters the nnbw first and then y%n — liable
(c) Follow: ®11 ruled that if the mother is P10 and the child an n%y
(i) Certainly: if he slaughters the % first — no liability
(ii) But even: if he slaughters the n% first — no liability
1. Reason: the first no'nw didn’t lead to n%aR; not reckoned a nvMw for 3R
(iii) Dissent (72117 77): the “devouring” of the nam (n%) is considered nax, per v. 4
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